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INSTRUCTIONS

1. This question paper should be opened only after receiving the instruction from the examination hall invigilator.

2. This question paper contains 30 questions in Part A (General Knowledge) and 140 questions in Part B (Psychology, Law and
Police subjects).

3. Answer all the questions.

4. Each correct answer has half mark.

5. Write the Enrolment No. and Sl. No. of the OMR answer sheet at the appropriate place in the front page.of the question paper.

6. The type of question booklet series and the correct answers to the questions (A, B, C or D) should be shaded in the relevant circles
using blue or black ball point pen. The answer sheet without shading the type of question booklet series will not be evaluated.

7. For each question only one answer is to be chosen and shaded.

8. For wrong, multiple and improper shading in answer sheets, no marks will be given for that.answer.

9. Ifthere is any printing error, or error in Page No. in the question paper, the same should be brought to the notice of the invigilator
immediately and obtained a new question paper before the commencement of written examination.

10. All the questions are bilingual except language questions (English & Tamil).
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(A) FCon® B) Csmwwbyggnt (C) @meuerent (D) Bw6seGauad) :
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PART — A : General Knowledge

Where the Fascism Raised in the European country ?
(A) Denmark (B) Germany (C) France (D) Italy
61 @Goriw priged Lnfs Qsnarens Canearlug ?
(A) Gleimomis  (B) Glagioe) (C) Aymetrav (D) @ssmad
. Match the following :
1) Holkar a) Baroda
2) Gaikwad b) Pune EL;?E!
3) Shinde c¢) Indore EQ
4) Peshwa d) Gwalior
(A) 1-c,2-b,3-d,4-a ‘ (B) 1-c, 2-a, 3-b, 4-d
(©) 1, 2-b,3-a,4-d (D) 1-c, 2-a,3-d, 4-b
AT

1 G’,@mrmi)asnﬁ a)y uGum_m-
2) Gsuigeun  b) 1yGer

3) 655 c) Qb
4) Gueyeur d) @eumeSwii
(A) 1-c,2-b,3-d,4-a (B) 1-c, 2-a, 3-b, 4-d
(C) 1-¢,2-b,3-a,4-d (D) 1-c, 2-a, 3-d, 4-b
Who built the Buland Darwaza at Fatehpur Sikri ?
(A) Shah Jahan (B) Akbar - (C) Jahangir (D) Aurangazeb
uGs Li&Mulled Lyevs sieunsneeusd sL 1gwaeui wmr 2
(A) ayngssmeir B) s ©) apmigi = (D) oyeygkis&L

Coimbatore district is surrounded by

(A) The Nilgiris, Theni, Erode and Dindigul

(B) The Nilgiris, Tiruppur, Dindigul and Theni

(C) The Nilgiris, Karur, Theni and Tiruppur

(D) The Nilgiris, Erode, Tiruppur and Kerala

Casmutbys$git torail” L 1b ' QYD GLoLILIL (ReTers).
(A) Bov&l, Czad), FGun® wHMID BeTBSs560

(B) &, BapLiyi, Dean®ssd wpmb Csef EgE
(©) pw@, sepi, Coed) HmILd LIyt %ﬁ
(D) pow&lf, #Gpn®, Lyt wpmid Csgert

. One among the given districts has border with Karnataka State.

(A) Erode (B) Coimbatore (C) Thiruvallur (D) Thirunelveli
Clsn(REs L BleiTer oMoyl L KSefleh QeTDy SHBIL_sT LoMBleVSSEIL_GHT GTEVEDREM LIS
Csre®erong
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6. The discovered Sangam Age town in Keezhadi excavation relates to which Civilization ?

7. L

(A) Egyptian Civilization
(C) Mesopotamian Civilization

By spmiedley SETHLIIGSSLILIL L. FRISST BSILD 6155 gﬂsrfagGgrr@

RULICHTESS Fnlg WGl ?
(A) @it prsfshd

(B) Mayan Civilization

(D) Indus Valley Civilization

(B) wmwest BrsifELb

(C) QueviiGunBLmbhwesr pnsfs (D) Spg Fwbleuel presdsid

any emergency.

The objective of ‘Kaaval Uthavi’ app is to help citizens to seek Police Assistance during

11, ‘Kaaval Uthavi’ app also provides service like registering mobile based complaints,

vehicle, verification FIR and CSR status. E5m
Which one is correct ? - BN
(A) Ionly (B) II only (C) Tand II (D) None of the above

I ‘smee 2560 Crweluie Crrésid CILINg b&SEFHE aUFT STWSED

5/16)1@9/66)@ 2 FQUSDHTSH

II. ‘smeuch 2 galil’ ngaﬁwnmgu @sCL& FABS LSBTGS, aITse QIL1g IS 6T

FALITALILY, (S SSaud IPlSens, §.e160. 9T Bl CureipaipD

Beuspans Creaneuser aupnGSDSl.

Guop) Glenester@ev 618 Fifl ?
(A) 1 o @b
(©) 1 wopmb 11

. Match the following :
i) Satya Nadela
ii) Sundar Pichai
iii) Indira Nooyi
iv) Shiv Nadar
(A) a,b,c,d (B) c,d,b,a
SLpsevsiL_cunenp ClLIT5SSIS
i) #88w pGLevT
il) &psi LFenF
iii) @B pnd
iv) efle pa_mir
(A) a,b,c,d
. Match the following :
i) Nepal
it) Bhutan
iii) Bangladesh
iv) Pakistan
(A) c,a,b,d (B) a,c,b,d
LesreupeuaTaupeam OCLITb55i%.
i) Gpumerb
i) Ly’ L medr
iil) wBIEeTTCSH 6y
iv) unr&glevsmesr
(A) c,a,b,d

B) c,d,b,a

(B) a,c,b,d

(B) 11 to” (b

(D) GuopGlensirest 61giayLb @)evemev

a) HCL

b) Pepsi Co.

¢) Microsoft

d) Google
(C) b,c,d, a (D) d,a,c,b

a) HCL

b) QU GupLoth

c) enLndGgreEmii

d) &@er
(C) b,c,d,a (D) d,a,c,b

a) Thimphu

b) Dhaka 6

¢) Kathmandu 355

d; Islamabad E\éﬁ
(C) a,b,c,d

a) GlbLy
b) LnssT
C) &MSLomessi(h)

d) @evevmomLing
(C) a,b,c,d

(D) a,b,d,c

(D) a,b,d, c




10.

11.

12.

13.

14.

-4-

What is the number of all India Women Helpline ?

(A) 1098 (B) 1030 (C) 181 (D) 100
Q>TSS @Q)bFw OLictser 2 Fal eTeRT 6TesTe ?
(A) 1098 (B) 1030 (©) 181 (D) 100
Match the foll'owing :

a) Hydrogenated fats 1) Carcinogenic 9:559

b) Nitrites 2) Allergy =

c) Sweeteners 3) Cardiovascular disease

d) Sulfites 4) Dental Cavities
(A) 4,3,1,2 (B) 3,1,4,2 ) 2,4,1,3 D) 3,2,4,1
QummSSIs

a) posqu L. Glarapiiy 1) LypmissL 1y ser gpLL. sryessaer

b) enpLemp av 2) geleumenLo

c) @aﬁ:.’:gi@.&;sﬁ 3) @wsw Crmii

d) FebosemLi” 4) upGlengens
(A) 4,3,1,2 (B) 3,1,4,2 ©) 2,4,1,3 (D) 3,2,4,1

Select the food source of Vitamin — A from the given foods. _
(A) Whole grain ~ (B) Gooseberry (C) Fish oil (D) Apple
s Beirer 2 ewreysalledlphg el L 1hes - A Heapps o awellovars CsinCls®).

(A) wpup sresfluh (B) Qpevelgsmi

(C) Letr er6ss16lawmis (D) <96

Which is a correct match ? - .
(A) Hogenakkal falls — Krishnagiri (B) Monkey falls — Coimbatore
(C) Courtallam falls — Tuticorin (D) Suruli falls — Madurai mgm
sfwns QurgiBuwens CsibCs®. %ﬁ;

(A) @Csarssad Frafipss) — Gpayem@n (B) Gomi@ <ymad — CamubLggi
© @pprvd a@ed - sisgi56y (D) s@oll wiwed) — wgie

In which State Ajanta caves are situated ?

(A) Madhya Pradesh (B) Gujarat (©) Karnataka (D) Maharashtra
DARBST (HOESGT IYLOESITET LOMBGLD 615 ?
(A) wsGuw KpGseb (B) @egoms

(C) sipm_sib (D) wsmgneyy gr
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" 15. (i) Hiuen-Tsang hailed as the prince of pilgrims, visited India during the reign of Harsha.
(ii) Born in 621 CE he become a Buddhist monk at the age of Twenty.
(iii) His Si-yu-ki provides detailed information about the war system.
(A) (i) and (iii) correct (ii) wrong (B) (i) and (ii) correct (iii) wrong
(C) (i) correct (ii) and (iii) wrong (D) (i) wrong (ii) and (iii) correct
@) uu_mmryamﬂm @) ereugsit GTGZW_DGD’)Q)&&LIU@LD UJQUITGHT FHGUITEI QUDTaHT caymm&@
UBS LIfBST. EI;;EI
(i) Qum. 5. 621 & LIwps weurer seurs Fib 20b WS FIDe) LLGHTL . Eﬁq
(iil) @eussl mrovrer 8.u).8). apieyfer Cumt wep LUDD FnBDSI.

(A) () opmib (iii) A (i) sy~ (B) (i) wosdmyd (i) & (i) sougy
(©) (i) &M (ii) oppied (iii) seugy (D) (i) soumy (ii) oppiid (iii) &

16. The Chief Justice and other Judges of the Supreme Court are appbinted by
(A) The President _ (B) The Attorney General
(C) The Governor (D) The Prime Minister
2 55 ERGTD seweverts SHLS pmib wpp SHLGsmer Hlwbliivet
(A) GUYWLIHS ST (B) @BSw IR FHVLD UPSSGOTEHT
©) aemmT (D) SsLo yeoodsi

17. When was the Right to Property Act deleted from the list of Fundamental Rights ?
(A) 1970 (B) 1978 (C) 1980 (D) 1988
sgiue_ 2 Mevw Ll 1geSlwelGhg ClFnsgieno pésriil L. (k)
(A) 1970 (B) 1978 v (C) 1980 (D) 1988

18. Secularism means
(A) State is against to all religions
(B) State accepts only one religion
(C) An attitude of tolerance and peaceful co-existence on the part of citizen belonging any religion
(D) None of these

FLOWFTTLIGTEOLD GTGTLIG]
(A) SyuF seaTss FOWSEDGLD TP IS o ﬁ%
(B) <5 @Gy @ swwgms L BILD gHNECISTIEDS

(C) e1bs FOWS™S FMihS GLYLOELD FEIILISSGEOLOU|L_GHT cgymw@wn& (Q)ew155L0TS

QUTLPSGV
(D) @aupmieir Grguml_&wmev
19. Which of the following country is not the member of SAARC ?
(A) China (B) Sri Lanka (C) Pakistan (D) Bhutan

BipssemLcuppien 6165 B1H (SAARC) o piilewnt pr® sjevev ?
(A) Georr (B) wfevriisr (C) unBevgmer (D) Lymeir




20.

21.

22,

23.

24,

25.

26.
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In India, coins are issued by ‘
(A) Government of India (B) RBI
(C) State Governments (D) SBI
@BSwrealléd BrewTwmiSeT 260 Glosaud_LiLBEns.
(A) @BSw oygs B) @pHw N euriS)
©) wmhe yps D) avGri’ Gumkid i1 @QBGuwr

Barometer was invented by
(A) Archimedes (B) Newton (C) Torricelli (D) Tesla %;55!

&

ungggLonefleniid e HLIg.S5ei

(A) i6GIbhgev (B) By L et ©) LmEgabad (D) G_avevr
We can hold objects in our hand due to
(A) Surface tension (B) Stress
(C) Friction (D) Co-efficient of elasticity
THEOlaurs Glin@penenuth BLbLome) L1965 1pLy.QUSDSTET &TFewTLh
(A) wgdiy @upelens (B) swsay
(C) 2 gndiey (D) b8 @ewrsid
Choose the correct pair.
(A) Gypsum — Dindigul (B) Titanium minerals — Kanyakumari
(C) Tungsten — Salem (D) Chromite — Tiruchi
silwner @Qenenrenw CsinGs®). ‘ .
(A) @oa — Hew@Bdse : (B) e Gr_esflwid sesfloriseir — sereflwimg Lo
(C) Liigev_etr — Gaevid (D) &Gorewio”. — Sp&s
is a process of removing impurities from water to make it potable.

(A) Reverse osmosis - (B) Boiling :
(C) Distillation : (D) Filtration :

16T (epuileh Fifled 2 eirer rsss6r BESOILL®), Bif 55855 1LHBDS).
(A) 1@ Feiy® Ligeued (B) O51845 ameugdsed
(©) smius® anggser (D) awy s BHgev EE
The largest digestive gland in human digestive system is =
(A) Liver (B) Kidney (C) Pancreas (D) Spleen
wafls 2 1 aleb srewrliL@LD HsLCUAL Qefrers &g
(A) sevadged (B) @mubosib (C) sawewrwp (D) wessentyed
Which river separates the Coimbatore Plateau from the Mysore Plateau ?
(A) Noyyal river (B) Tamiraparani river

(C) Moyar (D) Palar

15 B8 eo@it L yflemwuid, CamutbLggi S gbleowuyid (90&@mgy 2

" (A) CBminued gumy (B) smbgLigesst) oy
(C) Gumuwmpy D) unevmay
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28.

29.

30.
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Assertion : Cotton is considered as major raw material to India’s Textile Industry.

" Reason : In cotton production India stands second position after China.

(A) “A”is wrong / “R” is correct

(B) “A” and “R” both are wrong Eléi ]

(C) “A” and “R” both are correct %@ﬁ

(D) “R” is wrong / “A” is correct

Fpml : UGSS @QiSwraller thsri6lufu gejell CsTADFTmVESE epeVLs
Qumpenns 2 6irengi.

SMIGILD : LIFSS) 2 pUSBUIe Earnailn@ BSSLILIG WS Q)ICHTL TS

QLB @EBur o arens.

(A) spmi Seumy/ sngestid i

(B) eapmy opmitb STIesILd @gas’zﬂ@Lb Seum)

(C) gmpmy opmiLh Srgewid @)ues(BLb &l

(D) smgessiLb Seumi/Fmmm &l

Which is a correct match ?
a) Kaziranga National Park — Rajasthan
b) Ranthambor National Park — Assam
¢) Sundarbans National Park — Rajasthan
d) Gir National Park — Gujarat
(A) a B) b ©)c (D) d
BLp&s@TL_maus@per 61gl Filwnet GlLmGSsLb.
a) sn@grisT CsFw LEIsT — @)ITeevSmet
b) gpsetyT CaFw LSt — SeveniTd
¢) spgraueT GG LYBsT — (3)TTE6VST6HT
d) & CsPw LBIsT — SIS '

(A) a B) b ©)c . (D) d
Find out wrong pair. _

(A) Khajuraho — Hindu temple (B) Ashoka —Rock Edict

(C) Din-i-Illahi — A book (D) Igbal —Poet Ol
saupnen @eanereniug Cspia) OlFuis. E-jéﬁ
(A) s8onCapn — @)bgI%CsTadle (B) oCsnsi — unepssa6laul
(C) 8e1 @S — @ LSSHLD (D) @dLimed — saleHit

The Constitutional Head of the Union is

(A) The President (B) The Chief Justice

© The Prime Minister (D) Council of Ministers
BH6UGHT IR TPWEIDLIL] SEOGIT Qe

(A) GuwIssd s (B) seevents SIS

(©) Yuso YeoLFFT (D) yemio&Fisen @p
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32.

33.

34.

39.

36.

37.

38.

39.
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PART - B : Psychology, Law and Police Related Subjects

Fill in the blank. ,

Unless the artist had given his best

(A) the portraits would not have been so natural
(B) the portraits would have been so natural

(C) the portraits will have been so natural @ﬁ?

(D) the portraits might be so natural =

Fill in the blank with the suitable question tag.

I’m right ?

(A) amn’t] (B) am not I - (C) aren’t ] (D) didI
Fill in the blank choosing the right option : '

A is someone who suffers the effect of a crime.

(A) culprit (B) witness (C) victim - (D) convict
Choose the appropriate meaning for the phrasal verb, “get rid of”

(A) To include (B) To eliminate (C) Toincrease (D) To decrease

Choose the option which has logical relevance.
I. The word ‘Fall’ indicates season.
I. It is an equivalent American word for ‘Autumn’.

(A) 1is false IT is true (B) I and II are false

(C) Iis true II is false (D) I and II are true
Match the following : .

a) WHO I) Homophone
-b) Syllabi II) Acronym

¢) Knight, night III) Eponym

d) Boycott IV) Plural

Al 1 v 1I - B) I IV 11 1
(O v 1 1 G 1m v 1
Fill up the blank with the correct word.

The king died

(A) hire less (B) heir less (C) hair less (D) hare less
Choose the correct passive form of the following sentence.

I will never forget this experience. $
(A) This experience will never been forgotten by me
(B) This experience will not be forgotten by me -

- (C) This experience will never be forgotten by me g'%%
(D) This experience will ever be forgotten by me =
Fill in the blank with the suitable relative pronoun.
This is Varun father is an architect.
(A) who ‘ (B) which (C) whom (D) whose

40.

Choose the sentence that has no error. :
(A) She did her homework every night (B) She has done her homework every night

(C) She does her homework every night (D) She does her homework last night
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41. e10u6T + QeuGH-GTILIGManE CFig0lspSS FlewL SGLd Qred '

(A) ereuClatmneue (B) ereuett gp(meuatr
(C) ereuastGlestmpeuest (D) erat1Q)Gwrm(meueT

42. ‘srblL_cbeuLD’ -eTeHTgnILD QFnevemavs LNMSGI 61(Lpss% FlenL LGl
(A) sa® + Gl_cvevrLd (B) sm® + 616b6uILD
(C) &1 + Gl_svevrid (D) &meir + 6160GVALD

43, QBs sTWSS 2 ewiidgIb CBTLIT 618 ? O
(A) st prener oIl (5@ 6uHeuTeS Eiﬁ ,
(B) sewioewst] Crpmr LImL_Lb L9 SST6T
(C) wr@ser @etimy Ljed CLowiFeipe
D) PmpCsiayser penl_6lUpSeTDGCT

44. ‘QupdGSHDIV BASIT Gamafler aNggieuret eTeTmy @g)l_n_[u NI @l_nun Quppeurt
Dgn_pgrsliugsalgmui-afleoL sCspp alerT jemLoss

(A) @ésroptsi Gemailed allggieune eeim Syt Ul L LelLwi Cluppeurt wmi ?
(B) @@5@pmnw Brsi Garalled afldgeumes * eratipy Pl L L G @u;pg)mn

w2
(C) BDms@porev BrseT Csmailed aldgiaumet eresy Gluwit GClLPDauF wi ?
(D) Dws@pHpie Bzt Gsraled araldg s e Glwi Quppet wii ?

45. ‘gypeutd’ aetp Qameveller Quingeens CsiBCSE
(A) oL B) 9Ie (©) aumamb (D) iapssd

46. 20U1LS Lo pulcd sergped) Hlapbss-Glsm M o et e psmen 565
GT(LDS .
(A) ui1u® yen_oenpuileh sarpest] Hlenppssi.
(B) @201U8) oL puileh ser(seust] Beoniss!.
(©) @Uu8) Iy enpuiled samest] Blanphssi.
(D) ULE yai_wapuied sered] Hleopbssl.

47. Gereumeuateaupmier ypLiGlunpeiley @evevngsl 618 ?

(A) afgid (B) Gleupm (C) Osmenr_ (D) snsev

48. ‘GLut 1 @G BlevBlev’ -9y19.5CsmeL 1 GlFmevalle @)evdseus: @/_pﬂumua N
(A) @ol ewL_sHaeral (B) o_(peusLd
(C) ABSGS0ISTLiT (D) 2.M&Glgmev g%

‘ 49. ‘o aimenio’ GTGTLISGT GTRTFOIFT®VS Fnml
(A) Godiewio (B) GQumiienio (C) eumiiewio (D) Gmriewio
50. ‘cuevens eTeiieniLd SLOPECFTORISGLI CnBhgIDd k&S Cleme
(A) Weather (B) Climate (C) Migration (D) Continent-




Answer the following 51-52 questions. -

Study the following graph carefully and answer the questions given below.

GpssaL. aflemaser 51-52 alevr_woeldsayLb.

Bipo_6iTan cuenLIL_Seng unﬁg’,g,l Cserails@ps@ LB 61ipss.

<1

S2.

Total no. of boys and girls in various colleges.

L)

g

5

'E WA Girls [ Boys
5 T

T B

g

P 2

18 g8 .

S L

32 EL

§ee

BN el

& E B C D
E z ' Colleges —
® S0 g ilgeir

What is the average number of girls from all the colleges together ?

(A) 25,000 , (B) 27,500
(C) 25,500 . (D) 27,000
Jvarsg) soriselles QupsGLd Quanseallss sgnsl aiamnenlldans ereTaT 9
(A) 25,000 (B) 27,500
(C) 25,500 (D) 27,000

What is the difference between the total number of girls and the total number of boys from

all the colleges together ?

(A) 13,500 j (B) 14,000 g%];
(C) 15,500 (D) 16,000
SYmesgl sevariseledms@Ld Clonss <9, GV S @V S G Lb @ucﬁn&i@égwnm
erevsTenflbens algSwinsib eTeres 9 |
(A) 13,500 (B) 14,000

(C) 15,500 (D) 16,000
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The following are 3 (53-55) questions based on the table given below :

Production of different types of scooters in a company.

ClEMHSSLILIL_BHGTOT L _L_cUHERTEHILI LIy a1 &G 2 airar 3 (53-55) Cseiralls@pd@ W)

GT(LpSI%. BTSSP SWTMASGLD LI QNSLONGST GVFnl L 56T, EE
Type of Scooters gL’ L1t auena e
Year A B | c| p |E
QUBL_LD
1992 180 . 60 84 100 76
1993 210 90 | 32 80 48
1994 135 30 44 95 85
1995 190 85 69 | 125 | 115
1996 260 95 120 80 120
1997 240 140 161 90 185

53.

54.

SS.

In which of the given years was the production of B-type scooters close to its average
production over the given years ?

(A) 1995 (B) 199%4 (C) 1993 (D) 1992
BnpieueTsSer 2 pLSHUID 6ThS UL LD B-auems evgar L M6 2 HLISH et
Fgrgf 2 PUSHESG JABFeV 2 6TaTg ?

(A) 1995 (B) 1994 (C) 1993 (D) 1992

In which year was the production of D-type scooters maximum ?
(A) 1993 (B) 1996 (C) 1995 D) 1997
D-auens avanl L MeT 2 HUSH 61hS UBL-SDD G SLons% 2 6iTeng) ?

(A) 1993 (B) 1996 (C) 1995 (D) 1997

What was the approximate percentage of production of A-type scooters in 1995 to its total
production over the years ? EEE

=
(A) 20 (B) 15 (C) 23 (D) 40 &
Qar@ssri’ L yam@sailcr Cwrss o pusBuied, 1995 b au@BLSHdD A-aiams

avda L LMt Gsmpmuionet 2 PSS 5ai5Lb eT6iaT ?
(A) 20 B) 15 (C) 23 (D) 40




Answer the following 56-57 questions.

The following graph shows the percent profit earned by two companies (M and L) over the years
1994-2000.
CUae

SipsseirL. afleTrdser 56-57 eﬂmgwaﬂéaml_b.

Spagseir. Csa®) euengur_tb 1994-2000 %S yeBEaflcd @Q)uessT(® BlmicuesTEIs 6T
M wpmyib L) mligwr ewry #56098)550m5 &6 IS GG g

56.

s

58.

80 +

70

60 4

50 A

40 -

30 4
20 4

10 A

o

1994 1995 1996 1997 1998 1999 2000

In which year did company M earn its maximum profit ?
(A) 1997 (B) 1998 (C) 1999 (D) 2000

ThS hewriged M eresrapib Blmieuetid oD s F wrLSmS FL 1w ?
(A) 1997 (B) 1998 (C) 1999 (D) 2000

In which year did company L make its minimum profit ?
(A) 1997 (B) 1998 (C) 1999 (D) 2000

1% erigcv L ereiignih Blmpieuciid GoppsLL s WTUGmS FL QUG ?
(A) 1997 (B) 1998 (©) 1999 (D) 2000

Which of the following diagrams indicates the best relation between Males, Fathers and

-~ Human beings ?

El
5 O O i
( . C) D)
P (@D @57 © ®(Q)0

GG ClEMESSLILIL (DGTON 6Tb% CUEHTLIL LD 6T, SbaGS6T LoHDILD LoefFisEpdE
@evr_ulleb 2_siren Clgm_iew FmLiins @mjwﬂuu@ggj@[pg/

A) @ '. (B) OOO © D) @ O
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. The following two (59-60) questions are based on the Pie Chart. Investment in different companies
" by Raghunadhan. (Rupees in Thousands)

Sipsem__ @uea(® (59-60) allennssepld L@GLILS®ans GlEnaTL. auL L SGl6 UDILL SoS
Fninsg). QauciGany Hneueriisaler r@prseher psed® (epumil-guilghisafed)

E o

900

59. What percentage of the total investment is the investment in B ?

(A) 12% (B) 24% (C) 36% (D) 48%

B ufléh 2 6irar (1pSed®), Glorss (LpSeSLi1g6) TSSmaT s5aTHLD 2

(A) 12% - (B) 24% €) 36% (D) 48%
60. What percentage of the total investments are kept in company E ?

(A) 19% (B) 23% ©) 31% (D) 57%

Qonds (LpSeoL 196D, E Anieueig@ed 2 arer LpseSL 1.6 #5afsLh eT6ien 9

(A) 19% B) 23% ©) 31% (D) 57%

61. In the following series, replace the question mark (?) with suitable option.
17, 36, 74, 150, ?, 606

(A) 250 (B) 303 (©) 300 (D) 302
etreupLd Osm_Meb, Caeirails@mluller (7) @l_g,‘@av QurpssLoneT allenL_enit
9jofldEayLb. ' : .
17, 36, 74, 150, ?, 606

(A) 250  (B) 303 (C) 300 (D) 302

62. Find the missing letter.

P| T|? D
ol qls DE
M| N
A 1 B) L (Oe (D) U

ANBUL L eTLpSenG HeTL P15, :
P| T 1|7
Ol QS
M{ N

(A) 1 B) L © O D) U




63.

64.

65S.

66.

Given that,

1) Ais the mother of B

2) Cisthesonof A ' ’ E:S';E-'
3) Dis the brother of E ' %ﬁ
4) Eisthe daughter of B

The grandmother of D is

(A) A (B) B © C (D) E
Qasr@ésrILL L g, '

1) A erareui B ulest gmuwmeumi

2) C eréricuir A a96r Lo&6sT

3) D eretrueui E ufleir FCsng g6t '

4) E erasiicuii B ufleir osseir erasfleb,

D uflesr um g wimi 9

(A) A : (B) B (C) C (D E

If the day after tomorrow is sunday, what day was tomorrow’s déy before yesterday ? -
(A) Friday (B) Thursday (C) Monday (D) Tuesday

BAGHGTL LODIBIET @GTUIDDISELPLD GTETDIGy, Brenem FTaNeT Q@b M6 (LpHaSIL
[BITGIT GTGSTGT 9

(A) Gleusirefs G penio ’ B) awmps&ipenio
(C) Priseapenio (D) Qeaiourdifipenio
If “UNCLE’ is written as 94 6 7 2, ‘SISTER is writtenas 53 5 8 2 1, and ‘SON’ is written

as 5 8 4, then what will be the code of “NOISE’ ?

(A) 64825 (B) 84652 (C) 46356 (D) 48352

‘UNCLE’ m‘s@,m aumigeng 94 672 ereiiib, *‘SISTER” er6t1awyib eumigens 53 582 1 eretmmyih,
‘SON’ er6t1ggyLd umigeng 58 4 erevmmyid e1psti 1_mev, ‘NOISE’ GTGSIGRILD GUITTSHENS 6T IGUTLY
GIUPSLILIBLD : '

(A) 64825 (B) 84652 (C) 46356 (D) 48352
Find the correct answer in the place of question mark (?) E‘i%
=

Burglar : House : : Pirate : ?

(A) Sea (B) Ship (C) Sailor (D) Crew
Caarals@puil L @Qu_s@ar sfwner efen_aowig Gaiip0l5 Bl e Lb.
Bt of® : : sLpelsTeTenemuii: ?

(A) sLeb (B) a6 ©) wrgnd (D) Gapaiami




67.

68.

69.

70.

71

=15=

Sequence the following in logical order :

1) Hexagon 2) Nonagon 3) Pentagon

4) Heptagon 5) Octagon

A) 1,4,5,2,3  (B) 43,1,2,5 ©) 3,1,4,5,2 (D) 1,3,4,5,2
sligseauns auflasulcolsraaarapap aullasuBdsan EI:;I;E!
1) Qapsevse 2) mrGlestnasest  3) Gued_seir % ¥
4) GapLi_ser 5) <sGL_nasetr

A) 1,4,5,2,3 (B) 4,3,1,2,5 (C) 3,1,4,5,2 (D) 1,3,4,5,2

Looking at a woman sitting next to him, Amit said, “She is the sister of the husband of my
wife”. How is the woman related to Amit ? ’

(A) Daughter (B) Sister (C) Wife (D) Daughter-in-law
FTF LSSSHD LoiBHBEGLD @b CuesenewrL Lnigg YLbld FpPlugl, “Ijeuer
61687 Loameraludleir semteufler FCarsM’. @I LIchToes) LOSHHS eTetrer ClFmbSLD ?
(A) wser B) sCsrzm (C) wewevral (D) w@Loser

A is taller than B but not as tall as C. D is taller than E but not as tall as B. E is taller than F -
but not as tall as D. Who among them is the tallest ? 4

(A) B ®B) C © D D) F

A ereircuir B eow afl. 2 wgih gyened C yerey 2 with @evemev. D eresricuit E eow
a9 2 wyth gyerTed B gjerey 2wy @)evenev. E ereirueui F eow @il 2 wigth gyesred
D wjeney 2 wpth @dewev. @auisafley wrr @ @LigCeoCw 2 wylomeseuri ?

(A) B B) C € D ®) F

Ram and Shyam are ranked 13™ and 14" respectively in a class of 23. What are their ranks
from the last, respectively ?

(A) 10, 11t (B) 1t™h, 12% (€©) 11% 10*n (D) 13%,12%

23 LomeRTeuisET 2_6er au@ LI, gLb Lopmith apwimb penpGu, 136ugl opmyd 146ug)
soauflanguiey o arenei wpeopGu, seoL_FuileSlbhg seuisellss ggaleans creier ?
(A) 106ug, 116ugy (B) llougy, 12615 g3
(©) 1augy, 10aus (D) 13eugy, 120ug B

Chaturviga bought a raincoat and saved ¥ 50 with discount of 20%. What was the original
price of the raincoat ? ‘

“(A) X250 (B) X500 (C) X125 (D) %300

sgiralanr 20% serepLigyL e @@ QgularCar e eunmig) X 50 g CaLblggmi
erasflev QuuieTGanL 19651 9Feh allemev 6T6HTaT 2

(A) T 250 ~ (B) T500 (C) T 125 (D) 300
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72. 1f x% of 600 is 450, then find the value of x.

(A) 85 B) 75

600 @)eir x% er631Lugs 450 er1avfleb, X Q)61 WFIewLIS HTessTs.

(A) 85 B) 75

(C) 65 (D) 125

S

(C) 65 (D) 125 @

73. A Father is 6 times older than son. After 2 years father will be 4 times older than son.

What is son’s present age ?
A) 4 B) 3

© 6 D) 5

spCung spesule auwg wseldar awmss Gured 6 WL m& (@) e
WBLBSEFSGL UIpG spasuier enwg weeler awemsiGurd 4 LOL_MmIG 2%
QBSGLb. waaler sHCGUTSW oG eT6TeT 2

(A) 4 (B) 3

© 6 D) 5

74. 1: Arectangle is an equiangular parallelogram.
II : A square is an equilateral and equiangular parallelogram.

(A) Only I is correct

(B) Only II is correct

(C) BothI and II are correct
(D) BothIand II are incorrect

L: @@ Gediousid sGasrewiperor @)anemrasgiongLb.
II: @@ eg1g1b 616571181 FLoLIGELD LHLLD FLoCHTERT(LPGTAT Q) enewIEILOTGLD.

(A) 1w @b &M
(©). I wpmyb 1T @uesrid &M
75. Match the following :
-71
125
i) 0+ (-138)=-138=(~138)+0
4b%c has degree
The zero of 4 — 2x

(A) 4,3,2,1 1,4,3,2

Clummsgis :
0
. 125
i) 0+(-138)=—138=(-138)+0

B)

4b%c 61 g
4 —2x &1 LFPwib
4,3,2,1

B) 1,4,3,2

(B) Il ol @b &M
(D) 1 wpmiud 11 @Quess®id saumy

1) 2

2) 3
3) Additive identity

4) Terminating decimal

©) 2,4,1,3 (D) 3,1,2,4
12
2) 3

3) g6 FLoel)

1) wyam s alifley
© 2,4,1,3 D) 3,1,2,4




76.

77.

-17-

Find the term that will come in place of the question mark (?)

ABCDEFG, GABCDEF, FGABCDE,?

(A) EFGABCD (B) GABCDEF _
(C) EFGABCDE (D) FGABCDE &k

Gaerals@ui L @Q)L_$8)60 auhib 61(LpdgiIssalles ClBm_ars EemBLILy Ssa LD,
ABCDEFG, GABCDEF, FGABCDE,?

(A) EFGABCD . (B) GABCDEF

(C) EFGABCDE (D) FGABCDE

In the diagram, the ‘circle’ represents, ‘ladies’, the ‘triangle’ represents ‘teachers’, and the
‘rectangle’ represents ‘unmarried persons’. The numbers given in the diagram represent the
number of persons in that particular category.

19 11 i

How many married ladies are teachers ?

Ay 6 ®) 3 © 9 D) 11

wengLIL_gBeb QarBasriL Rdrer el L b’  Oluessamens’ GBISEDS, ¢ LpSCHmewiLD
‘g @Awisemes GBEEDS LHHILD ClFeIuELOTETS)  S(HLOGRILONSTS BLIASE6TE
GPEDDS. ueILL $B® QETRSSLILL HETaT TETSHT bS GBI L L9fadled

2 6o BLITSNGT TessTassBenFHenIs &mI5ELD

2/ 9 & '
19 11 i

155 eT B(LoenTone GlLiewser gL &Mwiiser 2

(A) 6 (B) 3 ©) 9 (D) 11

W
E"@.
SH |




78.

79.

80.

81.

82.

-18- | A

Arrange the words in meaningful sequence.
1) Elephant
2) Cat

: o)
3) Mosquito %ﬁg
4) Tiger
5) Whale :
(A) 1,3,5,4,2 B) 2,5,1,4,3 ©) 3,2,4,1,5 (D) 5,3,1,2,4
aunigemgsemer ClLnGSswner aufasuled ojeidsaib.
1) wnenes
2) yees
3) Gsns
4) yed
5) SlBiseLd :
(A) 1,3,5,4,2 B) 2,5,1,4,3 ©) 3,2,4,1,5 (D) 5,3,1,2,4
Which will come in the place of question mark (?) find from the options.

BIP, ELR, HOT, KRV, ?

(A) NUX - (B) NUY (C) MTY (D) MTX

&Gy Clsr®ssiu Berar oL salled @) Big, Gseral GO L @) &G er
Qunmwsswner alev_sow Gsiay GFis.

BIP, ELR, HOT, KRV, ?

(A) NUX (B) NUY (C©) MTY (D) MTX

A man goes 5 km Eaét, then he turns right and goes 4 km, then he turns to his left, and then
goes 5 km. Which direction is he facing now ? o ’

(A) North . (B) South (C) East (D) West

@0 wallger BpsCa 5 G Clra@prer. Yeue euegyLpib HFbLd 4 Hib ClFev & rcir.
D@ 2Iou6h Q)L g Lssd H@Lbl) 5 SIS QFv@preit. jeue Q@QuGuUInE e1bs HengFenw
Crrs& Glecv@prer 9

(A) o sg B) Clspe - ©) Bpss (D) Guwpg
HCF of 18 and 27 is

(A) 3 (B) 6 (C) 9 (D) 10

18 opmyid 27 @)eir 81 Cluingys smrewd] EE%
(A) 3  (B) 6 ‘ € 9 . (D) 10

A 20 feet ladder leans against a wall at height of 16 feet from the ground. How far is the base
of the ladder from the wall ? : :

(A) 16 feet (B) 14 feet (C) 18 feet (D) 12 feet

20 o9 perupeirar erenf), senguleadmEg 16 <y o wrsHed sauflevend Csn®Lommy
FMUISS] DoUSHILIL HeiTens) 6Tesfled, FeuMe\mbg) cranfluies oy (LGS wunes) GTGLIGGTG)
SNISHeL 2_6reng 2

(A) 16 ong ®) oy (© Bow (D) 2o
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83.

84.

8s.

86.
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What happens to the area of the triangle, if the base is increased 2 times and the height is -
halved ? '

(A) Decreases to half v (B) Remains the same g]yq
(C) Increases by two times (D) None E]'ﬁ

@1 (L& CsTenTs S 6tr g/uy_'lua'sasg'mg @)7GEI(B) LOLBISTS@|LD, 2 WSS LTS IWTE LD
wrpmitd Guing) wpsCsrenigSe LILILIOTe) GTeUITD] LDAYILD ?

(A) un®wrs mmLb (B) wapas

(©) @uesa(p oL_mSTGLb (D) argblevemnev

Which of the following cannot be taken as probability of an event ?

(A) O B) 0.5 © 1 (D) -1
L9eirau@eUeTIDMIST 618 G(H HHLpFPUNGT FSpSHeuTS Q)5SS (PTG ?

(A) 0 (B) 0.5 O 1 D) -1

If three non-zero numbers a, b, ¢ are in Geometric Progression then

(A) b=a;°. (B) b=ac ~ (C) b=+ac D) p=2=C

2
a, b, ¢ e1adw epeiiyy LSPWLLPD eTavuser CLBGEGS CleTL it euflensulleh @)BpST60
(A) b=%‘i (B) b=ac (C) b=+ac D) p=2-C

2

Find the number of triangles in the following figures.

(A) 12 (B) 13 ©) 14 (D) 15

.@é@srrmg,@m sratrefldeasaw LTI LIL_ S8 Sev®) cT(1LpsIs.

(A) 12 (B) 13 (C) 14 (D) 15




87.

88.

89.
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There are 23 steps to reach a temple. On descending from the temple Ram takes two steps in

the same time. Shyam ascends one step. If they start to work simultaneously at which step

will they meet each other ? OO
CHE

(A) 8" (B) 9 0

@@ Csmalleoew gyevi_w 23 Lyser o erorar. Gsraleded Qs @QwEigLd Cunsg

gmb @Gy CrugBed @Quaw® Ly 1(BSs DGUSHDAT. CUIITLD G5 LG GTMGSTIGH.

2euisdr @Gy CrisHe Gouewev Qaiug GsmmSerme. 6Th% uu;ufﬂ@v <9I GUITHGIT

©) 100 D) 11®

R IO WIIEUT FESILITISGET.
(A) 8ougy (B) 9eugy (D) 1leusy

Which one of the following diagram best depicts the relationship between tables, chairs and
furniture ?

©) 106us

(B)

(D)@Q ‘

vesrausd euenglii_misafleh 618 GLoenggser, BapETedsEr, gmeum_/ma;m

O

Gwapplet 2 penes FpLiuns Ps5MsR e 2

(B)

O
(D) @O

Identify the odd figure.

n n N e
. E. id
a b c d : i
(A) a (B) b O c D) d
@8l Csuns 2 (Bousamss saT@LIYSS oL Hms.
n n U
oD [ ey oD [ e (e et | =
U n U U
a b c d
(A) a (B) b ©) ¢ (D) d
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90. Rakesh is on 9" position from upwards and on 38" position from downwards in a class. How
many students are there in the class ?
(A) 47 (B) 45 (C) 46 (D) 48
@@ @l gnGsey ererLieut Gedlmpg 9 augl @LsDaub wpmith SiPwHS 38 augl
QL SPID QBEEDTT. CLoTSHLD CTSSEET LOTGRTUTHET IS QU@GLILI 2 6iTeresTi ?
(A) 47 - (B) 45 (©) 46 (D) 48

91. Section 128 of Indian Penal Code deals with which one of the following ?

(A) Aiding escape of or rescuing or harbouring such prisoner g‘ﬁgj

(B) Public servant voluntarily allowing prisoner of state or war to escape DR

(C) Public servant negligently suffering such prisoner to escape

(D) None of the above ‘

@).8.5. L9fay 128 &1pser_eippleer TauDEDLI LIDPIG SamiSns) ?

(A) gsmaw @58 sU198 ClFbev 2 Fa56, ey LBLL 6, g SYUHSGLI
L FHallGS60 -

(B) wysd ewsBeaow sjcvevg Gumi esBewg sUL95 ClFee SaireslFenFITS
QI BSReETD gl 2enSlwi

(C) ssmaw daDows sUL0s CFwew yF e wrs a6 @b Qg serflwir

(D) Copsessii_ 6151aLbl6veneV ' '

92. ‘Harbouring of offender is an offence’ is dealt under which Section of IPC ?
(A) 212 - (B) 312
(C) 222 ' (D) None of the above
‘@PDib QFiIsIMBEE LS®ILLb oSS GPHPLAGL’ el (3).5.4. aileT cbsLI
196y euengwmISH DS ?
(A) 212 (B) 312
(C) 222 (D) GuGev @HINIL L 6T8a LD (F)evensv

93. Which Section of Indian Penal Code provides for counterfeiting currency notes ?
(A) 498 A (B) 489 A (C) 489 (D) 498
QBHw sET_emaets F1L_SBe epsLl LIfaled prewTgsresear BHNTSSTLONES
SwrMgse LPBlS Fmpliu’ Herers ? Eg{ilil
(A) 498 A (B) 489 A (C) 489 ‘ (D) 498 %ﬁ

94.. Which Section of IPC provides for a hangman who hangs the prisoners as per the orders of
the court is exempted from criminal liability ?

(A) 86 (B) 88 ' (©) 80 (D) 78

@.5.5. aler Bl 19Ma), BHHDSHT YT BerpCeupmid CimL (5
G@pHoeuTtaflenw F16&H6 @)BLIIBSES SDD SevL_anaTulled\(mig aflevd@ yafidsamev
uPPlS GBS ?

(A) 86 (B) 88 (©) 80 (D) 78
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95. The word ‘“injury” denotes harm caused to any person in

96.

97.

98.

99.

(A) Body and mind (B) Reputation

(C) Property (D) All of the above

‘unBliy ereTp Gleneh eTeumEGaeyith o e mESLILIEID BEI&6 eTeunmlenens;
GDIEG!1b.

(A) 260 wppith Lossg B) pHO LWt gl:;ili_]‘
(C) Qenggy (D) Comsaevsi_ oyeneaggib Ejﬁ

An accused died while kept in lock-up of a Police Station. Under which Section of CrP.C,
Magistrate empowers to hold enquiry ?

A) 175 B) 172 (©) 173 D) 176

ST BlevwwsHev, @HOLD FSsUIUL L e &meucdlpLiied @) @b GLing)
QwigIGurered ‘BReui’ alFmyenent CLopClsreirer @ emgd yels@d @.ad.s.
FL_L 196y e1gy 2 .

(A) 175 B) 172 (C) 173 (D) 176

Direction for grant of bail to person apprehending arrest is given under Section of
CrP.C. -
(A) 438 B) 439 . (C) 440 (D) 441

&g ClFUNIILIL S5 B eTeyiid Henevenw TBICHISEUNBLILIIBSSE DenerTuled
af@aug Clsm_iurns &.a.5.5. 9fay D FApUILIL (B 2 GiToTa).
(A) 438 (B) 439 » (C) 440 (D) 441

Which Section of the Code of Criminal Procedure deals with Serving Summons on
Government Servants ?

(A) 63 (B) 66 (©) 67 (D) 68
GDpaflwed alFTremest paL(peps FiL_sHer 6155 LIMe) g5 senfluiserss

YLt FmiLy QFiieug) Qs s GO DB DG 2

(A) 63 (B) 66 (©) 67 (D) 68

Under which Section of Cr.P.C,, a Magistrate may dispense with personal attendance of
accused while issuing summons and permit him to appear by his pleader ?

(A) 205 (B) 206 (©) 207 (D) 208
@mméﬂw@ allFngament peops s gH6 ehs 19Naler Ly @0 BHUTTEsTOUT
i ipLiLiTenent AP @Lb Qunips) GpmLb ST L LiQLBD eueny woeiteflencviimeuGed
Qobs Nwssallga, IeauBssns seugs VpEEPlEhemy (LpeiTeenev il Ts
9IS LOHESTLD ?

(A) 205 - (B) 206 ' (C) 207 (D) 208



100.

101.

102.

103.

104.

105.

223
“Right to Appeal” by victim provided under Section ' of Cr.P.C.
(A) 368 B) 370 (©) 371 (D) 372

un@ssriuc L eaui G wpopi® QFiussmiqw o Mevw aupmsiul G o drer

&..5.5. L9fay

(A) 368 - (B) 370 (C) 371 (D) 372 E.E!l:;lgE]._
In which year the New Pension Scheme was implemented in Tamil Nadu ? Eﬁ
(A) 01.04.2004 (B) 01.04.2003 (C) 01.04.2005 (D) 01.04.2000
SpsSHD LW guigtBu B L LD BS HaTh) LS ILOQIESG AUBSSI ?
(A) 01.04.2004 (B) 01.04.2003 (C) 01.04.2005 (D) 01.04.2000
How many Police Commissionerates are there in Tamil Nadu ?

(A) 7 _ R ©9 (D) 10
S1Op5EB)60 2 dTem ST YeeRTwisIESel CIorss cratTanllband 6TeHe ?
(A7 (B) 8 © 9 (D) 10

- Which is the Police Medal awarded for outstanding work in curtailing illicit liquor in
Tamil Nadu ?

(A) TN Chief Minister’s Police Medal (B) Gandhi Adigal Police Medal

(C) Anna Police Medal (D) Kamarajan Police Medal

s101p558)60 saTend FTgTUSMS RUIAILBGH SeTaflsIHp LesSsns apBELILIGEILD
HTQUG LISSHHLD 615 2 ' '

(A) SLALBIER (LPSVIDEFFMGT STUG LIGSSLD

(B) smpSwig 6T smeueh LisHLb

(C) - oy6vom6wTT HMUGL LISSHHLD

(D) sawgnggi smeued LiGSSELD

TN CM’s Police Medal is awarded to Police Personnel who has completed not less than

years.
(A) 5 years of service completion (B) 10 years of service completion
(C) 15 years of service completion (D) 20 years of service completion

s101ps (LpFHallesr smeuch LGSHD CIUD GTSSTeT Y, e5T(HS6iT uassd] Blenmey
Q1D msSs» Couess(RLd ? :

(A) 5 gyaw@ser uewfl Flevpey (B) 10 yesrser Liewfl flenpay @ﬁg
(C) 15 yea@ser Liestl Hlenpey (D) 20 gy evRaer Lawf) Blenpay =

How many years service required for conversion of AR/TSP Sub-Inspectors transfer to local
Sub-Inspector ?

(A) Completion of 2% years service (B) Completion of 5 years service

(C) Completion of 3% years service (D) Completion of 4 years service

TSSO ETRSET YuSL®L wPHIb SOPETEH FpLiL HTaied uenL_ufev
LicssfiLfbgne 2 5ad oyiiament STaussT 2 sall gyiieutenms Lest wompib GlLpeumd 2
(A). @ues_evy gam@ser ualBlapeay CFiB Bssed

(B) gigren®ser Lenfl floopa ClFiB@ssed

(C) epsrpany yenGser Lal Blepe) ClFiFBSS

(D) mresrsnam@senr Les Bleapay OFuIS HSS6
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107.

108.

109.

106.

24-

“Security for good behaviour from suspected persons” is dealt under Section
of Cr.P.C.

(A) 108 B) 109 (©) 110 (D) 111
“spC58$BDE_Lonew pLiselL b Q)5S BeiTeTL_SamsssnaT LIenewTiith G)l_@/mjg/
©P8s &-.0.p.5. ____ 19Malled SmpLlii Bereng.

(A) 108 (B) 109 (C) 110 ) 111 %%%

Which Section of Cr.P.C. enables a Police Officer to send report to District Magistrate for
removal of nuisance in public place ? '

(A) 129 (B) 130 (©) 131 (D) 133

GDPeue alsmreness penL_(papé s L SB6T eiis 1IMNaT Lig. HTUVFSE T
“wonaul L plgeuns pEeipsG” Osrdmwemu BEGaspsns Blsams eI
Quugud

(A) 129 (B) 130 (C) 131 (D) 133

Section 165 of Cr.P.C. deals with which of the following ?
(A) Arrest ~ (B) Search by Police Officer

(C) Examination of witnesses (D) Magistrates

GDDAMNUG eIFTIEGRT FenL_(Lpenms FLL_Lb Lﬂfﬂ@.[ 165 a3 SrpsnemyyLb eTeupeaDL
ups GBISGSDs 2
(A) omag)

(B) smauew@smi CengeamandBeusgys &Bss1

(O) s’ Sasewer allenLiLg Gpss)
(D) p®euriser

If a person aggrieved by a refusal of an officer incharge of a Police Station to record the
information given by him, may send the same to District Superintendent of Police. Under
Section of the Code of Criminal Procedure.

(A) 154 (1) (B) 152 (2) | %{5?

(C) 154 (3) (D) 155

RG UM UPRIGL ssaume LG CFIBL st Haow QummyLi Sieyeuet
LNISSTD, IbS SO LOAAUL L HTeUGD SIS TG LILITN(HS S &DD w6
QINETIHEHT BeOL_(LoODEF FL LS H 6t 9fedesr Sip yeiLiLieumb.

(A) 154 (1) (B) 152 (2)

(©) 154 (3) (D) 155



£

110.

-25- A

Medical examination of a rape victim should be done

(A) Within 24 hours from the time of occurrence

(B) Within 24 hours from the time of registering F.L.R. EE
(C) Within 24 hours from the time of receiving the information Elfﬁ

| (D) Within 24 hours from the time of arrest of accused

111.

112.

113.

T eTiER eupsGeafldd LTHEsLIUL L ey wBSHn LNGFTSmaTsE

2 L UBSSIIG] ST

(A) sibeuth e Qupp CrIsHd @) Bha 24 wewll CrISEDG6ET (LpLYESLILIL
Gouair(Lb

(B) wpsed sseued oflsamas UPWLILL LB @558 24 wenfl CrIsHH@er (Lp1&SsLLIL
Gouesor(p)LD ‘

(C) sseae Qupriul L Crrs®d @Qwbs 24 wewfl CEISSDGE (LPLySHLILIL.
Gouesst(R)LD '

(D) @ppib FWSSLILL L euit &g Qe L B @)@58 24 wewl CrusDp@er
oy ssLin_ Gasekr(hib

Which PSO deals with the use of handcuffs ?

(A) PSO 639 (B) PSO 640 (C) PSO 641 (D) PSO 642

®SNVEIGEH LWGTLRSSHISE® LDDY) 6165 STeuch Hlamew ),enemnT aNerdHF S ?

(A) sm.f.2p.639 (B) smpl.. 640  (C) smpl.g. 641 (D) .. 9y, 642

TN PSO deals with remand of accused to police custody.

(A) PSO 642 (B) PSO 643 (C) PSO 644 (D) PSO 645

TP Nsmears sraicd geopuleariaT s1auede @aigse FbLBSLOTS SLPHIG STaieh
Blenev eoewT 6T6uT afleuNsSmsl.

(A) sm.f.2y. 642 (B) smpl.gy. 643 (C) smpl.. 644 (D) &.[5l. 9. 645
Match the following :

a) Part -1 i) Crime charts

b) Part—1I ii) History sheets

¢) Part—1III iii) General conviction register

d) Part—IV iv) Work of Habitual Criminals

(A) a-iv, b-ii, c-i, d-1ii ' (B) a-iii, b-i, c-iv, d-ii

(C) a-iv, b-i, c-iii, d-ii -~ (D) a-i, b-iii, c-ii, d-iv

BpssaTLupep CLIMBSEs.

a) ugH -1 i) @op aNésLs UL BigeT 0
b) ugH -1l i) eurmDHIS GBS e
¢) ugs 111 iil) seTL_emarss Glungis LHCeu®

d) ues -1V iv) eupssioner @ppeunefseried peoL GlLppea
(A) a-iv, b-ii, c-i, d-iii (B) a-iii, b-i, c-iv, d-ii

- (C) a-iv, b-i, c-iii, d-ii (D) a-i, b-iii, c-ii, d-1v
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114. Match the following :

115.

a) Inspector of Police (Law and Order) i) PSO 185

b) Duties of Inspector (Crime) 11) PSO 188 mgm
c) Re'ese_rve Inspector iii) PSO 181 *@ﬁ
.d) Diaries iv) PSO 179
- (A) a-iv, b-iii, c-ii, d-i - (B) a-iv, b-iii, c-i, d-ii
(C) a-iii, b-iv, c-ii, d-i (D) a-i, b-ii, c-iv, d-iii
Spsngyid Cunpersmer Igparet sm.k).y. ereusGarr® sAwuns AL
a) Smeuh g uieumrent (FL L Lb LopmiLb 1) smpl.9.185
PLEIS) |
b) sreuchgienp gy uiaimerie SLans6r (@GDpriifay) ii) &m.b.3y,.188
¢) GabliuenL yuicumeriser iil) sm .. 181
d) pr@olyser iv) &m.p.. 179
(A) a-iv, b-iii, c-ii, d-i (B) a-iv, b-iii, c-i, d-ii
(©) a-iii, b-iv, c-ii, d-i ' (D) a-i, b-ii, c-iv, d-iii
Match the following : :
a) “Q” Branch 1) Anti-Narcotics Task Force
b) CCIW CID il) To monitor Naxalite activities
c¢) SBCID iii) Misappropriation in Co-operative Societies
d) NIB CID iv) Collection of intelligence and dissemination
(A) a-ii, b-iii, c-iv, d-i (B) a-i, b-ii, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iv, b-i, c-iii, d-ii
Bpésam_aupenp CUnEssIs6 : '
a) “su” 190y 1) GurmengliQunmer s@LIy 19ey _
b) CCIW CID i) pésl Qssellen pLaysmssamar &ausnenissdh
c¢) SBCID i) euenflaailwed GHp yovermiia 9fey
d) NIB CID V) ssavsmar CraMdge LPHmib LSIGSNESW
(A) a-ii, b-iii, c-iv, d-i (B) a-i, b-ii, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iv, b-i, c-iii, d-ii

116.

According to Section 101 of IEA, a person is bound to prove the existence of any fact, it is
said that the burden of proof lies on that person.

(A) Totally true

B) Total.l}f fal‘se o mm

(C) Provision is true - explanation is wrong %ﬁ

(D) Provision is false - explanation is true '

Sifley 101, @).4m.5 -$@6ir LIy Uit 6ThSS FRIsDufe 2 e wGuLeyth K554
sLeWOUL 1y BEGD Cung, Blwls@d Qurmiy oeers FMABEBLILSTEHS
GlemebeviLI(RLb.

(A) wpapeugib &l (B) wwaugib saim

(C) s L n9fay sf-afendsib sap (D) s 1906y seugy -afarssid o



117.

118.

119.

120.

121.
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of IEA explains about “Refreshing memory”.
(A) Section 157 (B) Section 159 (C) Section 133 (D) Section 140

@QBPw FrSuw Fi1_SG6v “Bleneteneur’ LySILILISS” UDD) FamiSmai-
(A) 9fey 157 (B) 9fey159 - (C) Wilay 133 (D) 19Mey 140

As per Section 5 of the Evidence Act, the evidence may be given on :

(A) Fact in issue - (B) Relevant facts ae%%

(C) Both (A) and (B) (D) None of the above ™

@BBwE s Qs FI_1L_ @ 19Mey 5 67 Ly, eTauPPlEETS FmL_ b é\/mﬂgaswnm
(A) gssenaTiiiaeer FmisS) (B) Osni_iiLjeor_w FBIEHS)

(©) (A) pmid (B) @uesstid (D) Gomseter_ 615iLb@)ebenev

Section 119 IEA says about

(A) Child witnesses (B) A witness who is unable to speak

(C) Eye witnesses (D) Independent witnesses

AOfey 119, @BHw sr’Sw F1°1_1b upm FmIS DS

(A) Gwias FT_FwkiseT (B) Gue& wpigwng Frl Swimser

(C) GrMev LMiss FTL Swikiser (D) seflciul L srl Quimkiser

If a dying declaration to be admissible in court, it

(A) Must be made before a Magistrate

(B) Must be made before a Police Officer without corroboration

(C) Must be made before a private person without corroboration

(D) None of the above

wresaITEGeapeLd BHLETDSS® Fr Rwns apmselsreTariuL. wigned UFe
Qediutii Cousst (b ? '

(A) B@®eui wpeirelenevuiled

(B) smaucgiemn yDsmi weraflamauie, opP LGBSSID F18 @dens Hlaeuiled
(C) safl pui peireflemeuiey, o MIPLGSSID FT& @bevrs Blanevuileh

(D) Cuopsess_ ergih @)evenev

The nodal agency for implementation of Crime and Criminal Tracking Network Systems (CCTNS)
in Tamil Nadu is

(A) Crime Branch Crime Investigation Department (CBCID)

(B) Special Branch Crime Investigation Department (SBCID)

(C) State Crime Records Bureau (SCRB) E,?E.' '

(D) Special Investigation Department (SID) E]%;&

SLOp5EB)0 GPOLD LoPDILD GDPNIE) SETSTefILIL] PHEIFIHERTLIL] LD er6sT
(CCTNS) QawiebLi®SGILD (LpeneRTWLD 618 ?

(A) @ppLifey @pprl Levermiey sieop (B) seflliliie) @gppt LeverTiiey siep
© Lorr,@av &DD %6}16‘6&7 STLIISLD (D) @iy yevremiiay Hiewm




122.

123.

124.

125.

126.
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Which of the following is correct ?

Statement — I : Coastal Security Helpline number is 1093. »
Statement — II : Coastal Security Helpline number is 1930.

(A) Statement I is correct ~ (B) Statement II is correct
(C) Both I and II are correct (D) None of the above

e18) silwng o ereng ? S
B
E o

oo —1: s_Gevry Lngisaiiy o sa9 erevs 1093.
Fapm— I : &1_Cevny ungysmiiy o sa9 erevsr 1930

(A) @pmy 1 &M (B) aapoy 11 &M
(C) spmy 1 wopmb 11 &M (D) eigiayib & @evenev
The amount of Ex gratia grant payable to the next kin of the Police Personnel who are killed

under heroic or tragic circumstances in the course of duty is

(A) Rs. 2,00,000 (B) Rs. 3,00,000 (C) Rs. 4,00,000 (D) Rs. 5,00,000
usssfluiley Cung afy8rs CFwed yibg et kg sTeuevflar G@LUSHDSE
UPEISLILIRILD S@Henenis OsTeans cTalcuereay '
(A) 5-2,00,000  (B) e5.3,00,000  (C) em.4,00,000 (D) ep. 5,00,000

When Police Personnel has previous good record, how long a punishment may be deferred ?
(A) From three to six months (B) From two to three months

(C) From four to five months (D) From three to nine months ‘
(LPETUIGVI) HETHTS QBSGL HTAID YWUNBSEES GTIAITeY &MTGLD GUEHT
SCTL_aneIenlll SeiTall eeudbSeVmLd ?

(A) ‘@pc&@/ PSL Y SRS auewy (B) @uessr(y) Lpsev eLpesiny LOTBEISET cueny
(C) praiis wse @ig wisnisedar ey (D) epeimy (LPSED GQGTLIG] LOMSBIEEHT GUGHT

Who is the cofnpetent_ authority to pass detention order under Goondas Act in cities ?

(A) The Commissioner of Police (B) Additional Commissioner of Police

(C) Joint Commissioner of Police (D) Deputy Commissioner of Police
LOTBSIRISIG Gl T S F1_SB6T GLp Sewi_LiLiTenenr QULPEIGHLIGUIT Wi 9 '
(A) smeued gy emessmwt B) a%;@g@i) STQIG) ),6%GuTILIT —

©) Qevent sreUD g emevTuii (D) gienewnst smeuch gyemevwruiiv %‘%ﬁ

As per PSO 497, Tamil Nadu Forensic Science Laboratory is having several division except
(A) Serology ~ (B) Narco Analysis (C) Biology (D) Toxicology

&m.pl.gy. erevr 497 @)eiriig gLE)g)/_BIT@ SLW YPINGh YUIISLONGISE GBS G (b
Afleweug saly wppee L 19fasemens Clsmevsr(Reirongy :
(A) BB uWIwe (B) 2. arenio gettenin sevn_ajb ouss

(©) 2. udflwed | (D) pesF@uiey
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127.

128.

129.
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‘As per PSO 40, the list of qualified candidates suitable for promotion to the post of

Sub-Inspectors shall be approved by

(a) Superintendent of Police (b) Deputy Inspector General of Police
(¢) Commissioner of Police (d) Inspector General of Police
(A) (a) and (d) are correct _ (B) All are correct

EfE
=t
(C) (b) and (c) are correct , (D) (b) only correct (=
SOPETH STaucd Hlavew yement et 40 6 Lig, &reied 2 $6d guiaurent Lgal
o wialPG $G&Bwres pLIisefleT L 19 wenew HmSsMiiLieT

(a) smeuch sevsrsmessfiLiLimaTt (b) &maULGIID HIHET ST
(c) Moy gy emewTiT (d) sreucvgIdD FEOeveurt

(A) (a) oppiih (d) &f (B) Syeensgid oif

(C) (b) opmyib () &M - (D) (b) o_@b &

As per PSO 749, who are classified as rowdies and rowdy sheets may be opened for

(A) Persons who habitually commit offences

(B) Persons bound over under Section 106 and 107 Cr.P.C.

(C) Persons who are illicit distillers and known purveyors of liquor

(D) All are correct

... 749 , Cuns&ii erer wreny USRS, deuisepdssns Cunss

uBeys sersears Glsm _mis CaiaTHid ?

(A) GppREIsmaT auLpdsLons C\FIS6D BLIT

B) @op aergenewr GHp Fi b L9feyser 106 opmib 107 @m B1p LewewriiLy
Cuppeuiger

(©) serend gngmuib smudsLieuri, Fmgutd aNHCLIMT eresTg mlwiii’ et

(D) yemesidgid Filwnereney

Which of the following is correct ?
(i) AsperPSO 715, aregister of process in Form No. 100 shall be maintained in each Police

Station.

(ii) At the end of the month, an abstract in Form No. 101 shall be entered in the process
register. -

(A) (i) is correct (i1) is wrong _ (B) (i) and (ii) are correct .E-]:;QEI

(C) (i) is wrong (ii) is correct (D) (i) and (ii) are wrong %ﬁ

BLpSHHTL_UDMIGT 615 &M ?

() sr.B. oo 115 @ery gaQeaurs srusd Ho@wusSaibd SHwem
BeopCGaupmps s Lemarts uGCeau® eeiplenes Ligautd 6Tesr 100 @)6b LigmoMés
Geuesar(RLb.

(i) rs @muBuied ugaib erevw 101 @b #BSHLD @eTflenar @LiLGCar g6
61 SB% Glanerer Caie(BLb.

(A () &M (31) seuny _ (B) (i) ommyib (it) Fflwmesteney

(©) () soumy (ii) M (D) () i (i) seuprenanas




130. As per PSO 726, who has the custody of Medical History Sheets of Head Constables and
Constables ? ' '

(A) Police Station Writer (B) Station House Officer
(C) Deputy Superintendent of Police (D) Superintendent of Police
&T.[5.p. 726 Q)6 L11g. FeOVEILOS ST LoHMILD STRUTIHEHGT LO(FSgI e UIVTDHMIS
GDILIL5ET 61hs DsTuNesT Qummriied eneudsiL@Ld 9 e
(A) smeueh flenevw e1pSSIT (B) smeued Blevew @BEm e
(©) grwewr sraued srewsresiiumeri (D) smaucgienn Sesssmewniiiimenni

131. Punishment for committing dacoity with murder is provided under Section of IPC.
(A) 395 (B) 396 (C) 397 (D) 398
Q).5.4. adleir Lfey & gal_ (B Ol meirenanyL i1 Olsmene Glsuis SODSB DS TET
STL_®eTLl LHM Fapliu (Hererngy.
(A) 395 - (B) 3% (©) 397 (D) 398

132. The word “Document” is defined in the
(A) Sec.301IPC (B) Sec, 24 IPC (C) Sec.291PC (D) Sec.251PC

“Qaienid” 616D LSSHemert Lipm) 6 U TWMISSLILIL (H6TeNE.
(A) Y9fey30 @).5.4. (B) 97aj24 Q).5.4.
(©) ey 29 @).5.5. (D) Ofley 25 @).5.4.
133. Fracture of bone is under Indian Penal Code.
(A) Hurt : : (B) Grievous hurt
(C) Slight harm (D) Affray -
QBBW seL_wers F1 1S eT@ubenL! (PSS 6TeTLIS
(A) smutb (B) Qasr@mismuLh
(©) Opirins (D) sssr0y

134. Which of the following Section provide punishment for false evidence ?
(A) Sec. 191 IPC  (B) Sec. 180 IPC (C) Sec.1931PC (D) Sec. 8 IPC
Gpaesi e1pg s L L1 ey, Ouimis 1 PwSHpsren SerL_aets LD sn@ng) ?

(A) Ofey 191 @.5.4. (B) 9May 180 (3).s.s.
(C) 9fay 193 @).5.4. (D) 9fey8 @).5.5.

135. Section 108 of Indian Penal Code deals with e
(A) Movable property (B) Counterfeiting coin E@
(C) Abettor , (D) Kidnapping
Q@BFW sevsi_emers FL1L_gHer NMay 108 uDBé FmiSng.
(A) s GlFnss) (B) seirer prewtuib suinfgsen

(C) aresr®ricui (D) 1Seirenenifigsseb



136 Which of the following officers should attend Sessions Court during the trial of a case as per PSO 226 ?
(A) Investigating Officer (10) (B) Station Writer
(C) Station House Officer (D) Inspector of Police
&I1.16). 9y, 226 ufledr L11g. 9jLoiiey BB ocmnEisaicy g LG BHLETDSPeV allFTIen ewt
Ceiuiu@d Cungy wri ,e01%5 GeuessT(RILD
(A) yever aflgmgenewt @i (B) Blemevws e1(1pdsiT E%%
(C) smeucv Hlemevws jeyiaieui (D) srauchgienm gylieumeri =

137. Which PSO speaks about men who turn out for dealing with crowds bandobust duty, patrol beats
in disturbed areas should always be armed with lathis when lathis is required for self defence ?
(A) PSO 265 (B) PSO 240 (C) PSO 250 (D) PSO 245
6Th% ST Bl Fal L BISE6ns L (HLILGSSHISO, LUTSISTUL] YOI, FDDI ST
LB GBS QL-RBISeleh (Lpemd Hnalcvser YFweipplest CLing SHSTILISSTS
&9 Caemeulii’ Bb Fowlh eeusHhsse» Coussst(RILD 61651 FopIS WS
(A) sm.b.9.265 (B) smpl.g.240 (C) smpl.gy. 250 (D) &1.5.9;. 245

138. For all grave crime cases, a copy of the first information report is sent as ‘Express Report’ as per
which PSO ?
(A) PSO 565 (B) PSO 560 (C) PSO 555 (D) PSO 550
g;mmg,gj JOLJINY: gmmmwml_wgﬂ&'& SSLILGLD UPSGHSEHS S (LS
SEAGD PGS BSOS ‘alangey HyPEenssarts eihs ST.bl. g uler Lig

QLILILILIBGEDS ?

(A) sm.pl.gy. 565 (B) smp.y.560 (C) smhbl.gy. 555 (D) &.j6l. 9. 550

139. As per PSO 117, which of the following officer having custody of personal file of Sub-Inspector
of Police ?
(A) Deputy Superintendent of Police =~ (B) Superintendent of Police
(C) Deputy Inspector General of Police (D) Inspector General of Police

smeued Blevevw gy enewsr e1eter 117 @67 L1y SLpsmespiLd 61hg @S miludesr ungj&rn_u_%v
smeueh 2 gail g uweureriler @Qus&ws CsmliLser eneuss LD

(A) smaued gewewr sawsnenfiliumeni  (B) smeueh sevsrsmenflliuiment
(C) smeued e giemewad saneveui (D) sraueh gewpd Femevaurt
140. Which PSO speaks about village headmen will be held responsible for reporting cases of

unlicensed possession of arms within their jurisdiction ?
(A) PSO 550 (B) PSO 549 (C) PSO 545 (D) PSO 500

6Ths Si1.5). 9, ulest Lig &g BEVGLD cg:/@ysucuna;m grya;m BB MY UFLDLIS 6T
o Mwoth eflssLiClupis QWSS GIT upBlu GOw upsGsamer GsMallligm@L
T ILeTOTQITSET QYeUTTSHET 2

(A) sm.f.gy.550 (B) sm.f..549  (C) smbl.g,. 545 (D) &m.pl.2. 500
141. How many Railway Police Districts are there under Tamil Nadu Police Department ?
(A) 2 (B) 3 o4 D) 5 Eg;p

sLOps sreaucvgiempuller S1p Quisigd @)ruilevGar @@uq UTeng HIeUe» EIM
oraIl L_mgeler eiewrenlldens ?

(A) 2 (B) 3 (© 4 s



142. Which of the following is correctly matched ?

Battalion Place EE

a) TSPVIIBN -  NewDelhi E%

b) TSPVBN -  Salem =

c) TSPIBN - Coimbatore

d) TSPIII BN - Vellore
(A) ais correctly matched (B) b is correctly matched
(C) cis correctly matched (D) d is correctly matched
a18) slwns ClummBS L eTers ?

FwLiLy sneucvLien_ @b

a) &.8.6m VIII gib gewfl - 1510606l

b) 5.89.s1. V b ojewfl - QGgevLb

) 5.9).an.1 gyib ool - Gasmubysgi

d) 5.8.6m1 1l gib gyewll - Ceuguri
(A) a sflwns CummpsSuerers) (B) b #flwins QungppSujererg
(©) ¢ sflwns QuinwsSujerensg) (D) d sfwns CLingsmpSujcirersy

143. What is the time limit to apply for appointment on compassionate grounds ?

(A) Within 3 years . ' (B) Within 2 months
(C) Within 90 days | (D) Within 180 days
ST g L1LenL_uleb Lewll Hlwioeb Gl QNGTGTLILISGLD FT6V DQUSTFLD 6TeHGT 9
(A) epeiny avGsEssEar (B) @uain(®) on5miHEsdE@en
(C) Canawamnm B sess@er (D) mrpClpsitLig) B s epdEer

144. For Government employee under new Contributory Pension Scheme (CPS),
percentage of Pay and Dearness Allowance (DA) is deducted as monthly contribution.

(A) 8% B) 9% (©) 10% D) 12%

LBw usisefli guie@ws B 156 Sip @ bCLimyh oygs sonfuiisefer sa@iLb
Lpnith Ysalenevriguiey F50I51D 0% Fhs1s CsnenswnsL) 199 SHLb
Q& nuiL@Rb. '

(A) 8% (B) 9% (C) 10% (D) 12%

145. Which of the following services are given to public by Tamil Nadu Police Department at
free of cost through its websites ?

(a) FIR status ‘

(b) Arrested person’s details ' B0
(A) Only (a) (B) Only (b) i
(C) Both (a) and (b) (D) Neither (a) nor (b)

GpésarLupmien S1lps STaiwgmpuleT apaLd WESEFEE @)aFOTs
QupBIsLILBIL CFemeuser wirenal 9

(@) s $s6u60 IYPlsamasuler Bleney

(b) &gy Gl 1_eursefesr afeugmiser

(A) (a) w1 (B) (b) i @b

(©) (a) w1 @b (b) @i (D) (2) opmiih (b) @evamew -
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146. Find out the wrong match :
(i) Arrest by Police Officer : Section 41 Cr.P.C.

(i1) Arrest by private person : Sec. 43 Cr.P.C. %%
(iii) Arrest by Magistrate : Sec. 42 Cr.P.C.
(A) (iii) only (B) (ii) only (C) (i) only (D) None of the above

SQUDTGHT ()0 GETENIL HETL )5

(i) smeued y@sTMwIed ensg CopelsrareriiL®sey @ 41@.al.5.45.
(i) sefl pugTed @sg CopolsreareriiL@eaig) : 43 &.ad.5. 5.
(i) BGegT® &g CopGlarereriLi®eug) : 42 &.a9.5.5.

(A) (iii) Lo @b (B) (ii) or_ b
(©) (@) w1 (D) Guopasesr_ eremarujiblevency

147. “Notice of appearance before Police Officer” is issued under the Sec. of Cr.P.C.
(A) 41D (B)41C (C)41B (D) 41A
S1au6» PSTAUNGT (LpeiT et 2% IBlailliy OETBSS &.ad.5.5. Lfay a1
81p gewioujLb.
(A) 41 D (B) 41C (C) 41B (D) 41 A

~ 148. Under which Section of Cr.P.C., no person shall be detained in custody of Police Officer
more than 24 hours in the absence of a special order of a Magistrate ?

(A) 56 B) 57 - (0) 58 (D) 59

G@Dpawed alFngenent (pepd FU LS8 e1ps LMaller Ly p@euder Splis
L L_ever @eawng Ll F$86 24 west) Cris@n@ Gued ewsgl ClFtiwiu’ L pueT
FMT6US6Y UGB (5SS Fnl_M5).

(A) 56 ®) 57 (C) 58 (D) 59

149. Under which Section of Cr.P.C., District Magistrate (or) Judicial Magistrate can issue search
warrant to any Person, if he has reason to believe that an individual is wrongly confined ?

(A) 94 (B) 93 | (C) 97 (D) 96
R BUIT FLL_ (LpIewins IenL_gglemaudst LU (B o erermi eter wresl’ L pHeuGm

(Syoavg)) BHssID BHuCTT SBFeTTed 6TeuGlgTEhehSHGLD Corgemar gy emenTenul,
GDDANWG oL (Lpepd FL L gBler e1pg Lfaledr S1p eurpmiseLd

(A) %4 (B) 93 (©) 97 (D) 96
150. Find out the correct match : 25;3 ]
(i) Examination of the accused : Sec. 313 Cr.P.C. Eiﬁ’i‘i

(i) Examination of the accused by Medical Practitioner : Sec. 164 Cr.P.C.
(iii) Examination of the victim of rape : Sec. 53 Cr.P.C.
(A) (i1) only (B) (i) only (C) (iii) only (D) (i1) and (iii) only
ghlwner QUNnSSSemE SeTL_H% : : '
(i) GO GwesLILL L ey alFmhiigge : 9fey 313 @.all.5.4.
(i) GO FWSSLILL L aueny SGIuT CerBdse : ifle) 164 G.al.5.5.
(i) euetTLjewTiey @GPDSH® LTHSSLILL L Uy CorBdse : 19Ma) 53 .al.5.4.
(A) (ii) o (b (B) (1) o @b
(C) (iil) oL @b (D) (ii) opmyib (iii) oL’ (Reb '
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151. Match the following :
Offence Penal Section
a) Unnatural offence i) Sec.3101IPC
b) Punishment for kidnapping i) Sec. 377 IPC E&{E
c¢) Thug . iii) Sec.319IPC %
d) Hurt ) _ ©1v) Sec. 363 IPC
(A) a-ii, b-iv, c-i, d-iii (B) a-i, b-ii, c-iii, d-iv
(C) a-ii, b-iv, c-ii, d-i (D) a-iv, b-iii, c-ii, d-i

QS S1%.
SHDDLD SeTL_anasiLt Liifley

a) QUIDENEEE LADTET GDOLD
b) SL_FHISNIEETGT SaTTL_cnes
C) GTLIT

d) smub

(A) a-ii, b-iv, c-i, d-iii

(C) a-iii, b-iv, c-ii, d-i

152. Match the following :
Offence ‘ _ Penal Section

1) difey310 @).s.s.

ii) 9fey 377 @).5.4.

iii) 9fey 319 (3).5.4.

iv) 19fley 363 @).5.4.
(B) a-i, b-ii, c-iii, d-iv
(D) a-iv, b-iii, c-ii, d-i

a) Murder by life convict

i) 304 (A) IPC

b) Culpable homicide not amounting to murder ii) 305 IPC

c¢) Causing death by negligence

iii) 303 IPC

d) Abetment of suicide of child or insane person iv) 304 IPC

(A) a-i, b-ii, c-iii, d-iv
(C) a-ii, b-iii, c-iv, d-i
AN GELTED

GDDLD

a) Qe Fevpd esFwired ClFunuri L

(B) a-iii, b-iv, c-i, d-ii
(D) a-iv, b-i, c-ii, d-iii

BevTL_ewes 1L 19 May

i) 304 (=) @).s.4.

Olsmemevd GpHLd
b) Gsrenevd@ppLonsns LogesTd ii) 305 @.5.4.
alleneraild@d GDoLD ‘
¢) sauarbleteanLowned ogewid alemeralssey i) 303 @).s.4.
d) gyiamzguilsr g eatflane iv) 304 (9).5.4.
ur@dsii1_efesr spolsraass
. SeT(BF6D :
(A) a-i, b-ii, c-iii, d-iv (B) a-iii, b-iv, c-i, d-it
(©) a-ii, b-iii, c-iv, d-i (D) a-iv, b-i, c-ii, d-iii

153. Which Section of IPC deals with attempt to commit robbery ?

EHEE

(A) 392 (B) 398 - (C) 394 (D) 393
Clsmetenenuig bs (pwH CFiised LHs @).5.5. aller e1651L1 19Mey FmmSng 2
(A) 392 (B) 398 : (C) 394 (D) 393

154. Punishment for cheating is given under Section of Indian Penal Code.

(A) 414 (B) 415 (C) 416 (D) 417

QBEW FETL_eward FLU LGB GTLOTHIICISDHTCT HeTL_c6T &P Lfey
6V ULPBISLILIL (h6iTeng).

(A) 414 - (B) 415 ‘

(C) 416 (D) 417 |



155. Which Section of Indian Penal Code defines wrongful confinement ?

(A) 340 (B) 240 (C) 339 (D) None of the above

g 1 aNCunsLons L g& eussew LIHD QBEF oL cwestd &'l_l__g,@@) GIBSLI
L9Ma%lev euenguwimiSHLILIL (HaTens]

(A) 340 (B) 240

(©) 339 : (D) CGev GO L 61816 D66
156. A person can be summoned as a witness under Section 160 of Cr.P.C. by EE

(A) Judicial Magistrate (B) Metropolitan Magistrate = £

(C) An Investigating Officer v (D) All the above

@pmsﬁhu@) QI FTgEn GOT BEL_(LpeODE FLL_LILiLg. (L9May) 160 eir 1p #m” Guins geuemy
PSS YBBTILPEOL_W BLIT
(A) BBSg1wD BEHoU (B) Cu@pss pEoui
(C) yevesr algmgenessr oS s (D) Gropsesi_. syeneereuLd
157. As per the Section 37 of the Cr.P.C., every person is bound to assist
(i) a Magistrate
(i) Police Officer
(iii) other than Police Officer, executing warrant.

~(A) (i) only , (B) (ii) only
(C) (i) and (ii) only (D) (ii) and (iii) only
GDHDaMNUG aIlFTTenERT (peOp& FLLLD 9fley 37 eir BLp 61B& 66T BLIHLD £
2 s OFuny SOOI L UG,
O BONGBSS

(i) sreuvBsTiSG
(iii) sreue®sTh ez, Lhywneetenw CFLHLBSHILIIHSS

(A) (i) L @1Lb (B) (ii) o @b
(©) (i) payb (ii) L @b (D) (ii) wopmyeb (iii) Lo @b

158. In the Code of Criminal Procedure ;
(i) Complaint — Section 2(d) Cr.P.C.
(ii)) F.LR. - Section 154 Cr.P.C.
(iii) Examination of complaint — Section 200 Cr.P.C.

(iv) Investigation — Section 2(h) Cr.P.C.
Find out the wrong match.

(A) (i) and (iv) only (B) (iii) and (ii) only .
(C) None of the above (D) All the above
GSDOENUG B (LPEIDFFL L_LILILG
() yasri- 19fay 2(d) &.ad.5.5.
() s ssaivbsas — L9fa) 154 G.a9.5.4. EEE
(1) ysrflenes aflgnfiiug — 19fa) 200 .all.5.s. %ﬁ
(iv) yevetr aflgngenesst — L9fey 2(h) &.a9.5.4.
' SUDITET Q)eTTIIS FHeTL_ 115
(A) (1) womib (iv) L (Bb (B) (iii) opmyed (11) oL R)b
(C) Cupsa_ 61516 Lbl6benev (D) Gopsesr_ yenesidgiLd



3 o
159. As per the Section 2 of Cr.P.C., “Police report” means

(A) Statement recorded by a Police Officer

~ (B) Report send by Police Officer to Judicial Magistrate regarding arrest of accused
(C) Report of Police Officer on completion of investigation
(D) None of the above B
&-al.p.5. 19fey 2 61 Ly “STeuPdans” eraTiLI(Boug B
(A) smaueBsth uBey CFis and@epeid
(B) p8s100p BOUGSS, GOpib 1L LCLDDemYT wag COsiisg GPSs Aflsms

SIGYILILS 6V

(C) yeveir aflgmgenent wpiyaileh STauB ST oyegitiLjh oypldems

(D) Gupses_ eieneuub @)evemev

160. Procedures relating to trial of accused person being lunatic is covered in Sec.  of Cr.P.C.
(A) 328 (B) 228 ' (C) 428 (D) 128
- Gppeared sgBleoulemns Q)@@ UL sSHD yauiser QSm_furer apdsE
eflgmgenewt LupPlw peoL_(pap, &.09.5.5. _ 19Malled smpri (Herersy.
(A) 328 (B) 228 (C) 428 (D) 128

161. The circumstances under which the secondary evidence is admissible have been enumerated
in of IEA.

(A) Section 63 (B) Section 64 (C) Section 65 (D) Section 66
QBHwE sm”Qus s 1L B e1ps Maled apCSEs sHSILIMSND Iy esewTEIG6T
FLOUBSLILIL L @)gevsi_ Mgy FmSuwibd CsmBSsLILL b e1ast GMILnI_ i’ Bererg) ?

(A) 19fay 63 (B) L9y 64 (C) L9ay 65 (D) ey 66

162. According to which Act, Section 113-B of IEA was inserted ?
(A) The Dowry Prohibition (Amendment) Act, 1986
(B) The Child Marriage Act, 2006
(C) The Domestic Violence Act, 2005
(D) None of the above _
G FLL GGG L @QBHwE Fm Hwé LB 9Mey 113-B Cardariun g o
(A) aups_genewt senL_ FL1 1b, 1986 (HwmssLD)
(B) oimss Dmwensd e g1 tb, 2006
(C) Quessser @@ LbU aGTLPDLT LITGISTLILF F1oi_Lb, 2005

e ; ! E]:S‘SEI
D G oV . PRI
(D) Cuopsesr. ggib @even -Eléﬁ
163. of IEA says about relevancy of statements in maps, charts and plans.
(A) Section 35 (B) Section 36 (C) Section 37 (D) Section 38

@QBSw FT Aw FL L 1b, eI miseleib, aeTss L L aIenewTL
uL miseflgb genoliy L_niseflgib o 6ren o egsefler Qsmiyei_eow LiHM
FDIFDSG) ?

(A) L9fley 35 (B) ey 36 (C) ey 37 (D) 9Mey 38



164.

165.

166.

167.

-37- A

Choose the correct pair.
a) Section 151 of IEA — Indecent and scandalous questions.
b) Section 152 of IEA — Questions intended to insult or annoy.
¢) Section 155 of IEA — Impeaching credit of witness.

(A) aand b (B) bandc (C)canda (D) All the above

Filwnes @)enesruienest Csih6)sBSaHa LD,

a) L9fey 151 @).gm.5. — Cseuevionet pmib LILHSIHHILD Gsaradsar.
b) Ifley 152 @).em.5. — BlBHS55 &@@G’wﬁ Csmpsrey CFTHES &S Cwim
CaL sri@ib Caxerallser.
c) L9fey 155 @).gm.a. — gm”_ Guileir Grpiewensd $T5GS60.
(A) awpmib b (B) b wpmitb c (C) commitba (D) Copsessi_ geneashsib

In criminal proceedings against any person, the husband or wife of such person respectively
shall be a competent witness. Such witness person shall be a

(A) Legally wedded husband and wife (B) Person in live-in relationship

(C) Person not previously convicted (D) Divorce person

RHCUIT LEGIGTOT SO GULpSE BL-a1gdensailey @mp(gm, D UHEHL_L FETCUIT JGVVS/
Leead @b $&S umilips FTLFwns @uLmi. g’ gl Suneral,
(A) wpepLiuy. S GLOETLLTRT SeaTaleT weaaTailluns @)ss6 Caiema®Lb

(B) ®@roewid GFunumped Gl eumupLd BLir | |

(C) apsaiGas ge_meOILIDD FLTTS @Q)(BSS Fnl TS

(D) afleunsgsg CludD BLIT

Punishment for commiting dishonest misappropriation of property possessed by deceased
person at the time of his death is dealt in ' '

(A) Sec.402IPC  (B) Sec. 403 IPC (C) Sec. 404 IPC (D) Sec. 414 1PC
@wpgCuneareul_tb eugg @minier Cung @ wps Cunmeear CrieoowHp
wepuied @swIL OFiis GPDSBNHEG STt 6ibg FL 1 Lfaleh
GBI Berargy

(A) ey 402 @).5.5. (B) 9oy 403 @.5.5. B
(©) LMy 404 @).5.5. D) ey 414 @.5.5. B

Voluntarily causing hurt to deter public servant from his duty is punishable under which
Section of IPC ? :

(A) 331 ' (B) 332 (C) 333 (D) 334
Qung s flueny yaugs s eowuledBrs &Hés FHTafldFenFwns FTwid
afenaralsSaSETeT SETL_ 6T @).5.4.-allewr e1hsLs 9Aalled gmmpliLi (Gererg ?

(A) 331 (B) 332 (C) 333 (D) 334




168.

169.

170.

-38-
Misconduct in public by a drunken person will be punished under Section

(A) 510 IPC (B) 75 IPC (C) 324 IPC (D) 260 IPC

GY-Curenguiled ClLing @)L_$He @uprIBeions LB Qasnm@w NORIU
tfaler &rp gmsm;_a;&uu@mrm

A) 510 @.s.5. . (B) 75 Q.5.5 (C) 324 @).5.#. (D) 260 (3).5.+. %ﬁ%
“Criminal breach of trust by a public servant” is dealt under Section of Indian
Penal Code. :

(A) 406 (B) 407 (C) 408 (D) 409

QBB sewTL_wans FL1L_G@6v “ClLng) senfwit @reusned QFIULILI@LD BLbLIbems
Guonsig s Gopd” uny) Fpib 19Mey ‘
(A) 406 (B) 407 (C) 408 (D) 409

Pick out the correct statement.

- a. Sec. 494 IPC is penal section for marrying again during lifetime of husband and wife.

b. Sec. 500 IPC is penal section for Defamation.

¢. Sec. 507 IPC is penal section for criminal intimidation by anonymous
communication.

d. Sec. 510 IPC is penal section for misconduct in public by drunken person.

(A) b, c, d are correct (B) a and b are correct
(C) All are correct (D) All are wrong :!5
giwner gmpeop Csinb6lsEHSSaLb. 7_ %ﬁ

a. @).8.4. sl 19Me) 494 sewreuci(y) wemerad o ul@GL 6T @@BSGLd CuIGs
BaiwBILd S pLoenid Cleuisned sa_emer Glupib fay.

b. @.8.5. sl 119Mey 500 euneng) SeusimssTeT samLamet LHY CUEDD).

c. @.8.& gl n9Mey507 euneig) QonL e $19.8588)6 ppeoib LT Heughdsmes
SGHIL_eo6oT DB FLU_L_tb.

d. @).8.5 sl 119Mey510arensg Gy Curenguied QLng QLSS @upriSerions
BLbGI CET6TeugnHSneT S _evet LpH) N AIER

(A) b, ¢, d #flwmesigy (B) a wpmib b w1 GG Fhlwnesgy

(©) omarsggyb Filwmengy (D) wyemesigsid seumncig)



SUB-INSPECTOR OF POLICE-2022

DEPARTMENT

WRITTEN EXAMINATION - FINAL ANSWER KEY

QUESTION BOOKLET SERIES - A

Q. No. | ANSWER Q. No. | ANSWER | Q. No. | ANSWER | Q. No. | ANSWER
1 D 26 C 51 B 76 A
2 D 27 C 52 |A/B/C/D| 77 B
3 B 28 D 53 A 78 C
4 D 29 C 54 C 79 A
5 A 30 A 55 B 80 C
6 D 31 A 56 D 81 C
7 C 32 C 57 B 82 D
8 B 33 C 58 C 83 B
9 A 34 B 59 A 84 D
10 C 35 D 60 A 85 C
11 B 36 C 61 D 86 D
12 C 37 B 62 D 87 A
13 B 38 C 63 A 88 C
14 D 39 D 64 B 89 D
15 A 40 C 65 D 90 C
16 A 41 A 66 B 91 B
17 B 42 B 67 C 92 A
18 C 43 B 68 B 93 B
19 A 44 B 69 B 94 D
20 B 45 A 70 C 95 D
21 C 46 C 71 A 96 D
22 C 47 D 72 B 97 A
23 B 48 C 73 B 98 B
24 A 49 B 74 C 99 A
25 A 50 C 75 A 100 D




QUESTION BOOKLET SERIES - A

Q.No. | ANSWER | Q.No. | ANSWER | Q.No. | ANSWER
101 B 126 B 151 A
102 C 127 C 152 B
103 B 128 D 153 D
104 |A/B/C/D| 129 B 154 D
105 B 130 B 155 A
106 B 131 B 156 C
107 D 132 C 157 C
108 B 133 B 158 |A/B/C/D
109 C 134 C 159 C
110 C 135 C 160 A
111 C 136 A 161 C
112 D 137 D 162 A
113 C 138 C 163 B
114 A 139 B 164 D
115 A 140 B 165 A
116 A 141 A 166 C
117 B 142 A 167 B
118 C 143 A 168 A
119 B 144 C 169 D
120 D 145 C 170 C
121 C 146 A
122 A 147 D
123 |A/B/C/D| 148 B
124 A 149 C
125 A 150 B
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